ERLICHED | AR TEE

=L =

X n+ %

1. T # 4 B e oA e A sl B L5

2. i T 3% RO THHBTERET — T H1-12

3. 1 BRIGERE Hos 40 T4 2H 14HZFT
AR A T

4. % A E 2 <A N B AR IS e T




TP h s AL kA SR T4 e AR FE R N ER

BAZH(TER) 4> 18,832,000 M

T il ¥ & 17,120,000 Ay

THE Bl S A 24 %R & 1,712,000 5




£ R HE s S R R T L [ KHER] No.
4 i 1 b HANT B Al 4 #H i
ERETEE
I RS = 11,804,911
EH: T HHER 11,804,911
Hime
I @ ER B = 380,330
I | BUGEeRE = 2,675,239
M | e = 2,260,278
@ Et 5,315,847
At 17,120,758
T A TRV EET 17,120,000
T RIS FE 248 1,712,000
BEFH (IEg) 18,832,000




% FF AR b s 22 A R i BT T GHOEN | No.

4 i 1 i ¥ B Hfr B Al 4 #H
I |EXRE TS
1 | EFAE 1] & 10,879,595
2 |REPBC AR 1] &K 925,316
&t 11,804,911




